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PHYSICAL EDUCATION
Paper II

Time Allowed : 1% Hours] [Maximum Marks : 100
Note :— Attempt all questions. Each ,.qﬂé's'tion carries two marks.

3 Physical Education deals with the development of human body :
(A) Mental (B) Social
(C) Overall . ‘ (D) Emotional

L Theory of Idealism is propounded by :

(A) Plato (B) John Dewey

(C) St. Thomas (D) French Bacon
3. Development occurs more in comparison with growth in :

(A) Chiidhood (B) Newborn

(C) Adolescent | (D) Adult

4. Wellness depends :
(A) Absence of disease (B) Physical fitness
(C) Performance (D) Fitness with best perforfnance

T.B.C. : 38/13/ET 2



yfes e

vT-uA 11

T ;1 _ [qurf : 100

e et wE $ IR AR T T 2 s W R

: 9

i foen a7 & fra fowm | wafad § 2

(A) wHES (B) wmHIfSh
(C)uaﬁﬁui (D) TEETTE
v @ fogi wede fEer 72

(A) =T . (B) <if it

(C) ¥ 9 _ (D)!ﬁ?'aar-r
frg s § gfs & oy fawm e afuys 2@ § 2

(A) SeaEE H (B) 7a=E #H

(C) fTrvimezer o (D) FaEEyl |

g w7 #7594 § ?
(A) S H A B (B) wiifew fwed

(C) =hTH e (D) TR fHeag & 9y FEewHar

T.B.C. : 38/13/ET 3 P.T.O.



5. Growth and development occurs irrespective of sex in :

(A) Childhood (B) Adolescent
(C) Adult ) (D) Old age
6. Collection of cells is known as :
(A) Mega cell | (B) Micro cell
(C) Tissue | (D) Organ
7. Mass participation is the platform of :
(A) Socialization (B) Team spirit
(C) Démocracy (D) Revolution
8. Plato was a great philosopher and Physical educationist of :
(A) Rome (B) Germany
(C) Sweden (D) Ancient Greece

T.B.C. : 38/13/ET 4



5. ®A-d srewen § gfg iR fawm wt w fa fam 1 e # @@ ge ded
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(A) SEIEE . (B) foymeen
(C) JamEEd (D) gITEE

6.  HIRERST F THOK TN N weA T ?
(A) Tm | : (B) wrEsh! B
(C) T (D) 3
7.  wWHfes wfasnfar &1 F:&1 AR T ?
(A) G (B) @& W&l
(C) eha= (D) i
8. @a@mmmmm&mm:
(A) TH @ (B) SHAT &

(C) w@rEd &1 (D) WA WE &
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9. Five rings of Olympic logo denote :
(A) Continents (B) Oceans 3
(C) Mount.ains ) (D) Planets
10. T.L.C. means :
.(A) Total Liver Cell
(B) Traumatic Lung éorpuscles
(C) Total Lﬁng Capacity
(D) None of 'the above
11. Lactic acid formation occn.'lrs in :
(A) Presence of Oxygen
(B) Presence of Nitrogen
(C) Absence of Oxygen

(D) Absence of Hydrogen

T.B.C. : 38/13/ET | 6
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12. The newly recommended W.H.O guideline for Normal Blood Pressure
18 :
(A) 120/80 mm of Hg >
(B) 120/90 mm of Hg
(C) 140/90 mm of Hg
(D) 130/80 mm of Hg
13. Hard tissue injury is the injury of :
(A) Muscle (B) Artery
(C) Bone . (D) ..Joint
14. Tennis elbow injury is associated with :
(A) Cricket (B) Swimming
(C) Athletics : (D) Racket Sports
15. Beta blocker drugs are used in : |
(A) Shooting (B) Football
(C) Volleyball (D) Tennis

T.B.C. : 38/13/ET 8



12. W.H.o.mmﬂémmwaﬁﬂs‘waﬁ% ?
(A) 120/80 mm of Hg
(B) 120/90 mm of Hg
(C) 140/90 mm of Hg
(D) 130/80 mm of Hg
13. R Has = 398 4 frad e ¥ 2
(A) wtgiei ' - A (B) st
(C) ===t ' (D) g
14. ‘2f99 Ues' 9 w=fya ® e
(A) frshe . (B) W=t
(C) Uzt D) MW @«
15. -‘aﬁawm'mméwmm@aﬁ%mm% ?
(A) TremarsT (B) wed&

(C) dfefsEra (D) 2=
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16.  Elasticity is :

(A) Reduction in size | fB)' Enlarged in size

(C) Regain of size . - (D) Loss of shape
17. The path of the object proje;:ted into free air is :

(A) | S-curve | (B) Pie

(C) Parabola . (D) Chi-square
18. Types of equilibrium :

(A) Static (B) Dynamic

(C) Neutral (D) All of these
19.  Which is the law of learning of the following.?

(A) Law of Readiness .(B) Law of Repeat»

(C) Law of Remember (D) Law of Knowledgé

T.B.C. : 38/13/ET 10
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19. e & fm o § - § 2
(A) Tt =1 e (B) @A w1 fam

(C) 3 FH = a9 D) A &1 Fam
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20. A learning curve is concave, when the rate of learning is gradually :

(A). Stable (B) Decreasing

(C) Complex - (D) Increasing
21. Motivation utilizes internal variables to explain :

(A) Relation (B) Heredity

(C) Genes "l | (D) Behaviour
22.  Personality is the collection of traits which are :

(A) Independent (B) Conflicted

(C) Unrelated (D) Inter-related

23.  Sports performance cannot be affected by :
(A) Fitness (B) Reaction time

(C) Aggression (D) Religion

T.B.C. : 38/13/ET _ 12
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24.  The distance from the fulcrum to the point of application of force is :
(A) Force arm (B) Resistance arm
(C) Axis ‘ (D) None of these
25.  Which form of media is most effective in promotion of sports ?
(A) Radio : (B) Television
(C) Video (D) Newspaper
26. LNUPE (former LNCPE) was established in Gwalior in :
(A) 1952 | (B) 1954
(C) 1957 (D) 1959

27. - The standing position of Physical Education teacher/instructor, while instruct-

ing the class must be in the direction :
(A) Same as of sun

(B) Facing the sun

(C) Lateljal to sun

(D) Irrespective of sun

T.B.C. : 38/13/ET . 14
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(A)H?T’i'\"ﬂ | (B) wfoQy ysm
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(A) e » (B) wifasm
(C) difean | (D) 3TEER
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28. . The most effective way to promote life long physical activity by connecting

it 4oz
(A) Health (B) Pride
(C) Ego 1 (D) Money

29. Netaji Subhash National Institute of Sports was established by :
(A) Govt. of Punjab
(B) Govt. of.' India-
-.(C) -Govt. of Haryana
(D) Punjab University
30.  Health programmes should be based on :
(A) Marketing values’
(B) Real health needs of.the people
(C) Attractive to the community

(D) Monetary benefits

.B.C. : 38/13/ET _ . 16
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31.  Primary source of energy in all activities is :

(A)

(C)

Protein (B) Fat

Carbohydrates (D) Vitamins

32. Mode of transmission of HIV is :

(A)

(B)

(C)

(D)

-

By sexual relationship
Blood transmission
Mother to child transmission

All of the aBove

33.  Which of the f‘ollowing is called sprain ?

(A)

(B)

(C)

(D)

Stretch and tear of a ligament
A twist, pull or tear of a muscle or tendon
Dislocation of joints

None of the above

34. Body composition refers to the quimtiﬁcation of :

(A)

(B)

(©

(D)

Fat and Protein
Haemoglobin and blood cells
Muscles, bones and fat

None of the above

T.B.C. : 38/13/ET 18
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35.

36.

37.

The training cycle of normal duration of 3-10 days is called :
(A) Micro (B) Macro
(C) Meso . (D) None of these

A training programme which is to develop strength endurance includes 6 to

10 exercises at different stations is called :

(A) Interval tra.ining programme

(B) Combination of exercise training programme
(C) Circuit training programme

(D) Isokinetic training programme

Slow continuous, fast continuous, varied pace and fartlak method are the

variations of :
(A) Interval Method : (B) Repetition Method

(C) Continuous Method (D) None of these

T.B.C. : 38/13/ET 20
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38. The aim of transitional period is :
(A) It is characterised by low training volume and low intensity

(B) To give recovery and relékation after strenuous camp
(C) Both (A) and (B)
(D) None of the above

39.  Principles of teaching has the following points to be followed, except one which

is.:
(A) Personal tuitions and copy of notes
(B) Learning through activity
(C) Planned ar.xd uniformed teaching
(D) Stability and feedback
40. Experimental Research method provides :
(A) Historical study (B) Deep study

(C) Pre and post study (D) Complex study

T.B.C. : 38/13/ET : 22



38. TFHHUY HIA H I ©§
(A)ﬁwﬁmwaﬂwﬁwaﬁwm
(B) @@ %W % 9 fHmad 3 AH WeH T
(©) 2Hi (A) 7 (B)
D) 37w § ¥ FE T

" 30, foem @ fagid 4 3@ 4 Frw wied @ ¥ 2
(A)wm@ﬂﬁnmaﬁw
(B) wfafafa & g e
(C)?fmma{mﬁfam
D) e ik Hedw

40. vErTeHE seH fafy v S ® o
(A) Ufqefas seagd | (B) & AT

(C) Y8 T 9 A (D) ifew sreEE

T.B.C. : 38/13/ET 23" P.T.0.



41. Reliability denotes :

(A) Consistency of performance (B) Validity among groups

(C) Objectivity (D) Inconsistency among subjects
42,  Multiple choice questionnaire refers to :

(A) Two or more responses are included

(B) vOne option only

(C) In the form of direct and incomplete

(D) All of the above

43. Tests which are scientifically constructed and possess an accompanying set

of norms are called :
(A) Teacher made test (B) Standardized test
(C) Administrative test (D) None of these
44. Effect of extraneous factors in research can be controlled by :
(A) Analysis of co-variance (B) Correlation
(C) Sigma scale (D) None of these
45. Which method was used by Brace in 1924 for constructing norms :
(A) T-scale (B) F-ratio

(C) Chi-square ‘ (D) Mean
T.B.C. : 38/13/ET 24
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46.

47.

48.

49.

50.

Height of stool in Harvard step test for coilege men is :
(A) 18 inches (B) 20 inches

(C) 30 inches | (D) 24 inches
McDonald soccer test time duration is :

(A) 120 sec. (B) 45 sec.

(C) 30 sec. (D) 60 sec.

Which is not the body fat measurement technique ?
(A) Skinfold ) ¥ (B) Underwater weighing
(C) DEXA - . (D) Ultrasound
The structure of sports federations is :

(4) Round ' (B) Pyramid

(C) Horizontal (D) Curve

When participant travels to take part in a sport event, the sport tourism is

called :

(A) Active sport tourism
(B) Event sport tourism
(C) Nostalgia

(D) None of the above

T.B.C. : 38/13/ET 26
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